SECTION 3 | Test 9

B

=

I sm= a m

b mm
2 2] thirds=  whole ones
2% S0p—Wp=21p

4 f8+10= p
5 Find 0.1 of 10cm.

6 408 = =6
7 —9925=0.75
8 7=

9 (Bpx8)+(4px9) =
10 £0.78 + £0.46 =
N 27km-1900m= m

12 04dm-0.04dm= m

cm

mm

cm

m

am

B Answer

1 How many pence have the same
value as

a £0.1
b £0.9?

2 Find in millilitres 1 of 151,

3 Two angles together make a
right angle. One angle is 55°.
How large is the other angle?

4 Divide the sum of the digits from
1 to 6 inclusive by 3.

5 Write the time 35 minutes before

18:10 using the 24-hour clock format.

6 Subtract 12 from 6.

7 Find the difference in grams between
skgand 3kg.

8 How many balloons costing 6p each
can be bought for 84p?

9 7lcosts 8p. Find the cost of 211,

10 Change each of these fractions
to hundredths.
1
a 35
b %
11 Write the missing numbers
in this sequence.

2,4,8 B, % 64

12 2 of a sum of money is £35.
Find the whole amount,

ml

100

100

Schofield &

1

Find the difference in grams between
the largest and the smallest
of these masses.

| 300g 0.4kg 1kg 1.kg |

2 Find the total value of these coins. f

w

10

n

12

This clock is 7

minutes slow.

How many

minutes is it

from the correct

time to midnight? m

evening

l / Which of the

% y lines are
e N
K L

perpendicular
M N totheline XY?
5m of carpet costs £3.00.
Find the cost of

a Im
b 20cm.

Through how many right angles
does the hour hand of a
clock turn in 24 hours?

Each square represents
1 square centimetre.
a Count the squares to find
the area of the rectangle. a cm?

b Find its perimeter in CENtimetresEs s - e

What number is 9 less than 47

A 20m piece of wood is cut into
100 equal pieces. Find the length
In centimetres of one piece. cm

In a sale, shoes were reduced by

12p per £1. How much was paid

for the shoes, which cost £10

before the sale? £

In a library there were 158 non-fiction
books and 132 fiction books.

How many short of 350 books

was the total?

Write the letter of the shape that is
a arhombus
b a parallelogram. b

W f)(/ Y
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SECTION 3 | Test 10

ST TR

1

8

9

10

n

12

£15.00 + 100 = E&p
1.8kg—900g= "1 g
LTI =

82 =

3 of 1 hour = imin
180ml x 100 = = |

6.30 p.m. to midnight = ©_ h

Five 5ps+ = 10ps = £3.65
035x6=
03+007+35=

3.05m-05m= om

£4— ¥p=£3.11

P

g

cn

B Answer !

10

n

12

Complete this sequence.
950; 975 & 8, 1050

Multiply 2.5 by 6.

How many times can ;1—2- be
taken from a whole one?

Multiply XII by VIII and give the
answer using Roman numerals.

How many centimetres in 1—10
of 6.2m?

Divide 2 by 5. Write the answer
as a decimal fraction.

Find the total distance in kilometres
of 350m, 900m and 3 km.

What fraction of £3 is 30p?

Reduce £6 by £1.73.

Find the cost of 21, if 200ml cost 8p.

Write the fraction that lies midway
between 3 and 3 in its
lowest terms.

The temperature dropped from
4°C to -6°C. By how many degrees
did it fall?

cm |

km

41

1

10

1

12

How many 75ml bottles can be
filled from 7312

Find the length of a line 10 times the
length of the line ST

a In centimetres a cm
b in metres. b m
ta 55mm S
S T
Write the next fraction in this sequence.
1 1 3=
84 8 2
March Use this
Mo 7 14 21 28 | partofa
Tues 1 8 15 22 29 | calendar
to find
a the date of the 3rd Monday
in March a
b the day of the week upon
which 1 April falls. b
Biscuits cost 9p for two.
Find the cost of 18. = P

Name this triangle

a by its angles a
m b by its
sides. b

Find the perimeter of a rectangle
6m long and 33m wide. = ==

The mass of box Y is half the mass
of box X. Find in kilograms and grams
the total mass of the two boxes. Kg=——— 4§

",’ = —
% 1kg 300g Y E'

Chloe and Jack shared £5 so that
Jack had 50p less than Chloe.
How much did Jack have? £

The line MN is drawn to a scale of
1em to Tm. Write in metres and
centimetres the length represented

by the line MN. ==p=—==0 cIn
em 2 3 4 5

Of the money Hanna receives each
week she spends 2 and saves the
remainder, which is 20p. How much
money altogether does she receive

each week? =-=ip

A pack of 20 pins costs 40p.
Find the cost of

a one pin a S 59
b 10 packs of pins. DR CE
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10

1

12

9000+ = +7+70=9777
3.01 x 100 =

405+9=

(7 x7)=100-

(0.1 of £1) + (0.01 of £1)=  'p p

9 =

o

1; ==
36p+45p+19p = £ £

% of 72 =

1.lkm-640m =" m m
min = 2h

50min + 28min + min

£E19i55= f

B Answer

3
2

10

n

12

Subtract 0.01 from 0.1.

How many thousands equal
fifty hundreds?

thousands

Find how many
a centimetres a cm

b millimetres there are in 0.7m. b mm

kg costs 20p. Find the cost of
a 100g
b 800g. b p

By how much is 99p less than
twenty-four 5ps? p

Multiply £5.08 by 7 and write the
answer to the nearest £. £

Write as a decimal fraction.

a % a
b 5‘—0 b
Find the difference between

(4.0 +6.0) and (0.4 + 0.6).

Change 1050p to fs. £
Add 6%and 42,

Name
a the sixth month a

b the ninth month of the year.

How many pence are twenty-four
2ps more than nine 5ps? p

42

]

10

n

12

Schofield & Sjme

Add 8.3 to 5.19 and write the answer
to the nearest whole number.

Bottle X holds twice
as much as bottle Y.
= \Write the amount
bottle X holds in
litres and millilitres. l ml

g
X b

Which two of these fractions
when added together equal

a a whole one a
b one-tenth? b

u.49 0.01 025 009 075

Find the difference between
a half of 18 and one-sixth of 30.

100 bags of popcorn each having

a mass of 55g are packed in a box.
The box has a mass of 500g.

Find the total mass of the full box.

What temperature is 12 degrees
colder than 5°C?

The mass of a bag
of potatoes is
shown on the dial.
Find their cost

at 30p per
kilogram. i

Will scored 51 goals across three
football matches. He scored 19 and
16 goals in his first two matches.
How many goals did he score

in his third match?

A taxi driver
travelled
these
distances

in five days.

Monday
Tuesday
Wednesday
Thursday
Friday

150km
150km
100km
100km
100km

_km

What was the total distance travelled?
il — - ’ —

A square has

vertices at

(3, 0), (4, 3), (1, 4)

and (x, ). What

are the values

of x and y? [Fibew e i)

Find the total number of days in the
last six months of the year.
28

7 Find the value of x.

N
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TR T

1 £1.45+86p=*£ £ 1 How many cereal packets,
Bz .+l =11 each containing 250g, can be
8 2 made from 10kg of cereal?
3 405+10= N
find the 2 3494 Find the difference between
4 RS the 4 marked x and the 4 marked y.
ZT—f X value of x. £
3 Each square
5 cm x 10 =1.40m cm represents
1 square
6 f3-fi =£0.72 £ centimetre.
7 117min=""h " min h min a Find the area of the
rectangle in cm?. a cm?
B 0.4kg-Hg=130g 9 b Find its perimeter in centimetres. b cm
9 45:9=40+ 4 How many ice creams, each costing
can be ht for £4.807
10 350mix 8= [ o%: e
5 Find the total value of the coins. £
11 999 x3= =
12 15km -10.5km= "'m m
: , a arhombus a
1 Wirite as a decimal: 403 hundredths. :
b a kite
2 What fraction of 1 hour is 12 minutes? y ¢ atrapezium? ¢
3 How many 20ps are equal q
in value to £0.87
4 Find the difference between 7 Acaris 3350mm in length and a
(g- + %) and 7. minibus is 3.5m long. By how many
millimetres is the minibus longer
5 Divide the sum of £3.50 than the car? =5 : mm
god s Py ' P | 8 The total length of the sides of
6 \Write 101 250ml to an isosceles triangle is 840mm.
. l The shortest side measures 240mm.
a the nearest litre Find the length of each of the
b the nearest 3 litre. b L other two sides. et Nl
7 Write each of these as an equivalent 9 Ellie counts back seven from zero,
fraction with the denominator 5. then counts on four and then back six.
. What number does she end up on? .
15 a
1 10 60p is made up of an equal number
b 160_00 b of 5ps and 10ps. How many 5ps
are there? - 5ps
8 What must be added to three , . . ;
10ps and six 5ps to make 90p? p 11 The widest point across a 10p coin
! measures 24.5mm. 10 coins are
9 Subtract the shortest measurement placed side by side in a straight line.
from the longest. Find the length of the line
0.24m m 1.0m 120cm vl in centimetres. e el

Write the time
that is 43 hours
after the time
on the clock,
using the
24-hour
farmat.

100 What number is the
Roman numeral C?

11 Eight cricket bats each measure 65¢m.
Find their total length in metres.

m ‘
12 600ml cost 42p. Find the cost of 1L. p ‘



CHECK-UP TEST | Number

o Write in digits.
nine hundred and sixty
four hundred and eight
eight thousand and seventy

four thousand and six
ten point one
three point zero five

Schofield & Sjms

' one point one nine
| twenty point zero two

7.0+ 05 +0.01 =

10.0 + 0.4 =

© 3000+500+ = +9=3569
6000 + = + 80 + 1 = 6881
3 + 40+ 9000 =

(1000 x 4) + (100 x 9) + (10 x 3) =

6.0+ 0.02 =
20.0 + 0.08 =

o 456 = B tens + 6 units tens | Write as a decimal.
903 = tens + 3 units tens | one-tenth T
1875 = I tens + 5 units tens | one-hundredth 100
5102 = © hundreds + 2 units hundreds | 101 tenths ‘190_50
9040 =  hundreds + 4 tens hundreds | 105 hundredths 1‘200—0
Q Write the value of the digit underlined.
467 3751 = 6o
8479 2008 i 1035 | 40.06
325 160.2 0.56 =0
o How many times smaller is _ ._
5 than 50 96 than 960 ' 06than 6.0 | 0.3than30 Z
7 than 700 23 than 2300 { 0.1than 10.0 - 0.07 than 0.7 =
270 than 2700 54 than 5400 | 0.08than8.0 = | 0.25than25?2
o How many times larger is
390 than 39 400 than 40 - 8.0than 0.8 = 50 than 0.5 =
4500 than 45 9000 than 90 | 16.0than 1.6 0.4 than0.04
3100 than 31 | 6140 than 614 9.0than 009 " 17 than 0.177
® 8- 174 7= B s | 26-9= =
6+5= . 8+25= - i5-8- =R —siEhae g =
9+9= | 59+ 6= | 15-9= e La35e :
44+7= 5+ 76 = 11-8= == i51_4= ==t
843 T 14-7= e eR- g e 3
9+7= | 7+89= 12=3 = ' 93-9= Sl
T+5= | 38+ 7= — 517 -8= s " | 3 g e
50— ', 4 +59 = I 14-9= e =6 S
448= 69+ 5= = Pt = ="
9+4= | 8+34= 14 -8 = = = 41 -3 = =
8+9= [577556= 13-i6= — — PE-g= P
6+46= . 9+68= i >  95-6= =y
348= 434+ 9= 13-4= = 67-9= T——
846 = e a7 = 16-7= 56 - 8 = L
e Find the value of each missing number.
—9=3 i 14-® =5 |47 =13 _ | 8+m=14 =
g8+ 1 =15 | M-5=8 | 12-W=4 B-7-9 = -
_7=4 }9" =15 9'4 Il =18 +9=17 T
+2=11 | ®-8=8 —5=7
44 T T—————
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CHECK-UP TEST | Number

O <= (6x9)+8= 36:9= 30+ 8= r
g xb= 4x8)+7= 49 + 7 = 16=9= r
3= (5x7)+6= 30+5= 20+ 3= r
5x9= (6x3)+2= 72+8= 54 + 8= r
7x8= (1x9)+5= 24+ 6= 80 +9= r
6x6= 2x7)+6= 0+4= 63 8= r
4%x5= (3x9)+6= 27 + 9 = 207 = i
gx2= (I7x7)+4= 42+ 6= 53+9= r
Dx3= (5x6)+3= 64 + 8= 21 + 8= r
9x9= (6x8)+5= 40 +5= 3+5= r
Rt h= (Ox5)+3= | 18+9= | 4D=7 = r
Gx 7= (8x8)+7= | 56+7= 19+5= r
3x8= (4x9)+5= | 28:4= 69+9= ‘
gx4= (B8x7)+4= | 32 -8= | 487 = r
4x6= (9x6)+5= | 81+9= | 16+6= r
7x9= | 2%x8)+6=  36:6= 45 +8= =
4x3= @x7)+4= 35+ 5= | 57+6= r
9x8=  (8x9)+8= | 54:9= | 31=8= e
7x4= | (I x6)+4= | 48:6= | 61:7= ‘
3x5= | Bx6)+4= L B3+7= —— | 62 +9= r
© Find the value of each missing number.
Dix-28 =40 -9 8 =63 x 4 =32 =B =4
26=5 | B=8=9 | 21=2=3 S x 8 = 64
x 7 =42 = | 5.x@ =45 — 1 36-H=9 t4=7
27+ =9 | B:-9=9 L 4x =24
@ . of8 | 1of28 | 3 of20 | 2 of 45 ———
1 of 21 | Lof4o | €of54 = | 4 of 35 =
1 of36 | 10of32 I of 48 | & of 63 S
1 of4s | 4 of 100 | & of 70 | 2 of80 =
@ Find the whole number when
lisg | Lise = 21530 — 2is16 =
1is7 | 1is9 § s 21 2 151 =
5is4 = g2 = 5 is 36 = | s 40. =
@ 11 xi0-= | 130+10= |l 13x10= == - iehoel0= =
100 x 10 = '| 800 + 10 = : 0.96 x 10 = — 66.0+10= =
145 x 10 = b | Ae20410= - = SEBEE2NCI0= 03+10= =
15 x 100 = = 1900 + 100 = 3 10.8 x 100 = | 70+100= et
120 x 100 = | esooetoo= | 005x00= —— 19.0 + 100 =
104 x 100 = N e =
° Find the missing numerator or denominator. - : :
5= 5 | 3= = 5= e 0 | 0o = =
— —raa | ____1_2_,___ i= ____ﬁ:{’_—.- 0 = — %‘?ﬁ: o
i —— | L= =R e omoEmen e

45




CHECK-UP TEST | Measurement

o Wirite in each box the
coins which make up
the given amount.
Use the least possible
number of coins.

Schofield & Simg

. 65p
ED ~ | 4

80 | L18p g )

(26 =[S0 N

—

0 Find the change from each amount.

Amount | Spent | Change Amount | Spent Change Amount | Spent Change
= o4 5 90p 81p D £3 £213 | ¢
500 350 5 60p 52p p £4 S
== 50p 12p D 30p 23p p f4 £2.48 f
50p 37p p 45p 41p p £5 £3.09 f
S0p 28p P £1 24p p £5 £2.46 £
50p 19p b £1 37p P £5 £167 | £
50p 23p b £2 £1.69 o £5 £ | £
S50p 16p p £2 £1.06 p £5 £0.88 f
@ 105ps= 2ps | £7.50= 50ps | £2.55= ~ 20ps, 3 5ps
6 5ps = 2ps | £10.00 = 50ps= (=EE72= _ 20ps, 6 2ps
14 5ps = 10ps | £3.80= ~ 20ps | £/ 8= ~ 20ps, 9 2ps
100 5ps = 10ps | £10.00 = 20ps ‘ £4.30 = ~ 10ps, 1 50p
12 S5ps = 20ps | £5.00= 10ps ' £3.80 = 50ps, 3 10ps
50 10ps = 20ps | £750= 10ps | £4.25= ] 50ps, 5 5ps
45 10ps = 50ps | £5.00= ~5ps | £290= ~_50ps, 4 10ps
65 10ps = 50ps | £2.20= —- =~ Spsa{-£l.64= 50ps, 7 2ps
© 24p+36p+50p= £ £1.35 - 60p = (ass e e [ o=
3% +41p+22p = £ | £270-85p = f £4.75 - £2.80 = i
25p +75p + 9p = £ . £4.60-99p = £ | £162+£1.38= s
63p +28p + 12p = £ | £229-£074 = £S5 £1.50-£0.77 = R
82p + 63p + 15p = f | £3.20-£293 = R £3.87 + £0.45 = AR
G Find the cost of
Skg at 25p per kg £ | 131at 28p per | £ 5m at £1.18 per m fes~
35kg at 30p per kg £ | 3lat 55p per | £ | 75cmat£1 perm T
4%kg at 20p per 1kg f 1 2%1 at 22p per | £ = 4~;-m at 50p per m P
2kg at 50p per 200g £ | 3l at 60p per 100ml £ 13 m at 20p per Im i
63kg at 60p per kg L | 750ml at 26p per 11 £ 2m at 30p per 20cm. fie
o Write the times shown on these clocks a using the 12-hour clock format, using a.m. or p.m.
b using the 24-hour clock format.
a a L
RIS e
morning afternoon morning evening

AR



\iental Arithmetic 3 CHECK-UP TEST | Measurement and geometry
o 1em = mm | 0.01lm = A0 05m = mm %m = cm
0.1cm = mm | 0.25m = cm | 0.75m = mm | im= cm
o cm | 0.75m = cm | 1km = m %m = cm
0.1m = cm | Im= mm | 0.5km = m | im= mm
0.8m = cm | 0.5m= mm | 0.75km = m | 2m= mm
e 184mm = am mm 390mm = cm 3258m = km m
307mm = cm mm 412mm = cm 5106m = km m
465cm = m cm | 800cm = m | 8200m = km
1000cm = m cm | 330cm = m | 6500m = km
340cm = m cm | 785¢cm = m | 7750m = km
@ 30009 = kg | 5000ml= B e g
5280g = kg g | 2884ml= [ g g
80909 = kg g  6160ml= L mi | ko= g
44009 = kg | 7300ml= L 3= ml
7250g = kg | 900ml= | 2= ml
© 2409+ g =Ikg | i+ ml —592ml | 820g-0.7kg = g
3709 + g =2kg | 1L+ ml =634ml | 925ml-0.8l= ml
406g + g =1kg | 11+ ‘ml =827ml | 0.6kg + 609 = g
2159 + g =1kg | 11+ ~ml =310ml | 0.250+ 120ml = ml
1983 + g = kg | Zl+ ml = 425ml | 0.75kg + 240g = g
G Work across the page. Write to the
nearest whole . !
number 193 | 105 144 [ -
nearest hundred 308 | 953 - 1326 = . 2950
nearest £1 £17.09 £ | €483 £ 3250 £ ——lEepgus re =
nearest cm Zem 2mm cm | 109mm cm | 39.6cm cm
nearest m 8m 51cm m | 730em m | 15.3m m
nearest km 124km km 18km 900m ~_km | 78.5km km
nearest kg 4kg 3009 kg | 9kg 5509 2 kg | 99.25kg o Tkg
nearest Tkg 6kg 2004 = kg | 12kg 3809 kg | 5kg600g =%
nearest | 21 4000 1| 9te0oml S S
@ Wiite the letter of the shape that is _
a right-angled triangle a rhombus an obtuse-angled triangle

d rectangle

H w @

. a parallelogram

|
]

an isosceles triangle.

Py

© square represents 1cm?. Write the area and perimeter of each

N7

rectangle. Give the units.




SECTION 3 | Test 9

L

1

8 gy B8 o (o) s (G AND

e
- O

12

M=

m= a m a
b mm b

21 thirds = = whole ones

S0p- " p=21p

£8 =10 =MWp

Find 0.1 of 10cm.
408 =
—99.25 = 0.75

=6

7t =
(8px8)+(4p x 9) =
£0.78 + £0.46 =

£1.00
£1.24
2.7km-1900m=m

0.4m-0.04m= cm

50cm
500mm

7
29p
80p
lcm

68
100
49

800m

36cm

1

10

ﬁ

How many pence have the same

value as
a £01 a
b £0.9? b

Find in millilitres 3 of 151,

Two angles together make a
right angle. One angle is 55°.,
How large is the other angle?

Divide the sum of the digits from
1 to 6 inclusive by 3.

Write the time 35 minutes before
18:10 using the 24-hour clock format.

Subtract 12 from 6.

I:ind the difference in grams between
zkg and kg

How many balloons costing 6p each
can be bought for 84p?
%! costs 8p. Find the cost of 231,

Change each of these fractions
1o hundredths.

i
2 3 a

b % b

Write the missing numbers
in this sequence.

2,4,8 1, ,64

2 of a sum of money is £35,
Find the whole amount.

£42

|

2

4

2

|

Schofield & Sime

Find the difference in grams between
the largest and the smallest
of these masses.

| 300g 04kg kg 11k |

SOQQ

Find the total value of these coins. £2.05

/\ (/”_““-?TIM"‘\\ ’;B_\;B—\r\;—(;\\ —
& @) 80 Gor)

This clock is 7
minutes slow
How many
minutes is it
from the correct
time to midnight? 31min
evening

I Which of the
X y lines are
il

perpendicular
M N to the line XY?
5m of carpet costs £3.00.
Find the cost of

a Im
b 20cm. b

Through how many right angles
does the hour hand of a
clock turn in 24 hours? 8

Each square represents
; 1 square centimetre.

a Count the squares to find

the area of the rectangle.

12¢m?

o1}

b Find its perimeter in centimetres. b 16¢m

- What number is 9 less than 4? =

~ A 20m piece of wood is cut into

100 equal pieces. Find the length

. . | 20cm
In centimetres of one piece. fc

In a sale, shoes were reduced by

12p per £1. How much was paid

for the shoes, which cost £10 '
before the sale? £8.80

In a library there were 158 non-fiction
books and 132 fiction books.

How many short of 350 books

was the total?

60

Write the letter of the sha pe that is
a arhombus a X

b a parallelogram. b Z

W

e/

o7 [




- metic 3 Answers
Mental Arithmetic 3 Answers

1 £15.00 )= D
3 18g-%00a="g
3 &Tx7=

n &=

8 035 xb=
034007 +35=

3.05m-05m= an

R =2 3

w1

(/]

1 Complete this sequence.
950, 975, &, &, 1050

2 Multiply 25 by 6.

3) How many times can -5 be
t2ken from a whole one?

4 Multiply XII by Vill and give the
answer using Roman numerals.

3 How many centimetres in 15
of 6.2m?

6 Divide 2 by 5. Write the answer
as a decimal fraction.

. Find the totzl distance in kilometres
of 350m, 900m and 2km.

B What fraction of £3 is 30p?

B Reduce £6 by £173.

W Find the cost of 21, i 200mi cost 8p.
° _Wfite the fraction that lies midway

= 5 » .
" g and 2 inits
lowsest terms.

° lt’g"g’:gerature dropped from
.I_.--IQC-B how d s
did it f1p> Y many degree

1000 1025

_15.0

12

XCVI

62cm

0.4

r =

SECTION 3 | Test 10

SRR = e )

10

1n

TOW many 75ml bottles can be

".'it:”‘k‘; from _‘;1,‘ 100
;.r‘-"j t
|

4 the length of a line 10 times the
ength of the line ST
in centimetres a 55¢m
iNn metres b

55mm

0.55m
[
T

te the next fraction in this sequence.
31
1 3 5
] S- :

Use this
part of a
calendar
to find

a the date of the 3rd Monday

In March a 21st

b the day of the week upon
which 1 April falls.

Biscuits cost 9p for two.
Find the cost of 18.

Name this triangle
a by its angles

b by its
sides.

b Friday

81p

a obtuse

b scalene

Find the perimeter of a rectangle

6m long and 33 m wide. 19m

The mass of box Y is half the mass
of box X. Find in kilograms and grams
the total mass of the two boxes.

— =

A 1kg 3009

St

=
e
Chloe and Jack shared £5 so that

Jack had 50p less than Chloe.
How much did Jack have?

The line MN is drawn to a scale of
1cm to 1m. Write in metres and

centimetres the length represented

by the line MN.

cm 1 2 5 4 5
IIIIIIIJI||IIHIFIII]I!II']II!lIIlFIIIIIlIIIIIIlLIJ

—————~

M. N

Of the money Hanna receives each

week she spends 2 and saves the
remainder, which is 20p. How rquch

money altogether does she receive

each week?

A pack of 20 pins costs 40p.

Find the cost of

a one pin
b 10 packs of pins.

950g

£22558

4am 30cm
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e TaTar s - — -
.' SUUU + - s o .__:9

2 301 x100=

2 405 -9

4 (7x7)=100-

5) (0.10f £1) + (0.01 of £1) = Wp
6 F=

D 5+2=

10 1.I7km-640m="m
11 S50min + 28min + " min = 2h

12 f19:5=

700
301
0.45

51

11p
81
1
26
£1.00
63
460m
42min

£3.80

1 Subtract 0.01 from 0.1.

2 How many thousands equa!
fifty hundreds?

3 Find how many
a centimetres
b millimetres there are in 0.7m.
4 kg costs 20p. Find the cost of
a 100g
b 800g.

5 By how much is 99p less than
twenty-four 5ps?

6 Multiply £5.09 by 7 and write the
answer to the nearest £.

7. Write as a decimal fraction,
ag
b %

8 Find the difference between
(4.0 +6.0) and (0.4 + 0.6).

9 Change 1050p to £s.

10 Add 6?and 42,

M Name
a the sixth month

b the ninth month of the year,

12 How many pence are twenty-four
2ps more than nine 5ps?

_0.09

_ 70cm
__700mm
QIEE 4p
b 32p
=S S 21
£36.00( TSSO
2l 2=m el
b 002 :
= et S T
£1050 -« - -
e, TEIRhD
a June

5 thousands |

1 Add 8.3 to 5.19 and write the answey
to the nearest whole number,

2 Bottle X holds twice
as much as bottle Y.
=  Write the amount
bottle X holds in
litres and millilitres.

===
X Y

3  Which two of these fractions
when added together equal

a a whole one
b one-tenth?

| 049 001 025 009 075 |

4 Find the difference between
a half of 18 and one-sixth of 30.

5 100 bags of popcorn each having
a mass of 55g are packed in a box.
The box has a mass of 500g.

Find the total mass of the full box.

6 What temperature is 12 degrees
colder than 5°C?

7 The mass of a bag
of potatoes is
shown on the dial.
Find their cost
at 30p per
kilogram.

8 Will scored 51 goals across three
football matches. He scored 19 and
16 goals in his first two matches.
How many goals did he score
in his third match?

‘9 A taxi driver
0 Y
L 130km travelled

Tuesday 150km tHesc
Wedss

ednesday 100km it
Thursday 100km | . five davs
Friday jagimlE " e o

What was the total distance travelled?

A square has
vertices at

(3,0), (4, 3), (1, 4)
and (x, y). What
are the values

of xand y? C

n

Find tch'e total number of days in the
last six months of the year.

8
@ 2= 3,;6- Find the value of x. —

Schol

3

a 0,25
b 0.01

£1.05

- TT—

lelcl & Sim

400m|

0.75
0.09

bkg

=€

Gogkm



Mental Arithmetic 3 Answers

1 £145+86p=f£
1
3 405+10=
4 £ 1.9 3 Find the
value of x.

D

5 'cmx10=140m

B £3-£0 =£072
7. 117min= "h ""'min
8 0.4kg- "ig=130g
9 45+9=40=

100 350mlx 8= "l

11 999x3=

12 15km-105km="m

£2.31

wn

4.05

£3.86

14cm

£2.28
1h 57min
270g
8

2.8l
2997

4500m

1 Write as a decimal: 403 hundredths.
2. What fraction of 1 hour is 12 minutes?

3 How many 20ps are equal
in value to £0.8?

4 Find the difference between
(5+2)and 7.

5 Divide the sum of £3.50
and 75p by 5.

6 Write 10l 250m| to
a the nearest litre

b the nearest % litre.

7' Write each of these as an equivalent
fraction with the denominator 5.

15
Q2

60
b 3%

o

What must be added to three
10ps and six 5ps to make 90p?

Subtract the shortest measurement
om the longest.

0.24m }m 1.0m 120cm

10 What number is the
Oman numera| @y

@ Eight Cricket bats each measure 65cm.
Nd their tota| length in metres.

600m cosy 42p. Find the cost of 1L.

4.03

| —

85p

10l |

1
b 1021

Q
v o fue

30p

5.2m
70p

10

"

I e |
SECTION 3 | Test 12

How many cerea| packets,
each containing 250q, can be
made from 10kg of cereal?

X y
34.94 Find the difference between
the 4 marked x and the 4 marked V.

40

3.96

Each square
represents

1 square
centimetre.

a Find the area of the

rectangle in em?. a 21cm?

b Find its perimeter in centimetres. b 20cm

How many ice creams, each costing
60p, can be bought for £4.807 8

Find the total value of the coins, £3.70

Which shape is
a arhombus
b a kite

a C
b D

ja

C atrapezium?

ol <o

A car is 3350mm in length and a
minibus is 3.5m long. By how many
millimetres is the minibus longer
than the car?

The total length of the sides of

an isosceles triangle is 840mm.

The shortest side measures 240mm.
Find the length of each of the
other two sides.

~150mm

300mm

Ellie counts back seven from zero,
then counts on four and then back six.
What number does she end up on?

60p is made up of an equal number
of 5ps and 10ps. How many 5ps
are there?

The widest point across a 10p coin
measures 24.5mm. 10 coing are
placed side by side in a_straJth- line.
Find the length of the line

in centimetres.

4 5ps

24.5cm

Write the time
that is 41 hours
after the time
on the clock,
using the
24-hour

format. 14:07

morning



CHECK-UP TEST | Number

e Write in digits.

D |

Schofield & Sims

e hundred and sixty 360 | four thousand and six 4006 = one point one nine 119
four hundred and eight 408 | ten paoint one 10.1 | twenty point zero two 20.02
eight thousand and seventy 8070 | three point zero five 3.05
© 3000+500+ m +9-13569 60 ' 70+0.5+001= 7.51
6000 + + 80+ 1=6881 800 100+04 = 10.4
3 +40+9000= 9043 6.0+ 0.02 = 6.02
(1000 x 4) + (100 x 9) + (10 x 3) = 4930 | 20.0+0.08= 20.08
T ——
@ 256= 10 tens + 6 units 45 tens | Write as a decimal.
903 = I tens + 3 units 90 tens | one-tenth 0.1 % 0.9
1875 = 1l tens + S units 187 tens | one-hundredth 0.01 | & 0.18
5102 = W hundreds + 2 units 51 hundreds | 101 tenths 10.1 190_50 0.95
9040 = I hundreds + 4 tens 90 hundreds | 105 hundredths .05 | 2 0.2
e Wirite the value of the digit underlined.
467 60 | 3751 700 | 3214 0 | 8658 i
r | = 5 b
8479 8000 ' 2008 8 | 10.95 100 | 40.06 100
325 2 | 1602 60 | 056 i | 20.02 00
0@ How many times smaller is
5 than 50 10 | 96 than 960 10 | 0.6than 6.0 10 = 0.3 than 30 100
7 than 700 100 | 23 than 2300 __100 | 0.1 than 10.0 100 | 0.07 than 0.7 10
270 than 2700 10 | 54 than 5400 100 | 0.08 than 8.0 100 | 0.25 than 25? 100
@ How many times larger is
390 than 39 10 | 400 than 40 10 | 8.0 than 0.8 I 10 | 50 than 0.5 100
4500 than 45 100 | 9000 than 90 100 l' 16.0 than 1.6 : 10 | 0.4than0.04 10
3100 than 31 100 | 6140 than 614 10 | 9.0 than 0.09 100 | 17 than 0.17? 100
(c RET 15 | 17+ 7= ~ 24 M6 = G Al o o 17
e 11 | 8+25= 33 | 13-8= SIS 00 — 6 = 16
94+0= 18 ! 59+ 6= 65 | 15-9= B 3 5 38
AT 11 | 5+76= SsNSEss B G 57
84+3= 11 ! 46 + 8= 54 | 14-T7= B Bas — 78
9472 16 | 7+89= 9 | 12-3= IS0} 1da o - 84
7+5= 12 | 38+ 7= 45 | 17-8= B0 (305 = 24
54+9= 14, |14 +50= 63 | 1a=9= 5 | 54-6= 48
s = 12 | 694 5= oo Lgaslein = e ol
9+4= 13 8+34= 42 | 14-8= NG 60l 41 —3= 38
8+9= 17 | 77+ 6= g3 [W3op B o I3
6+6= 12 | 9+68= o 77N 2% 1805 5= 89
3+8= 11 | 43+ 9= — 52 M3 *_*_9 G = 58
8+6= 14 6+ 87 = — 93| 16-7a = B2~ 48
o Find the value of each missing number.
W -9=3 12 | i8-M=5 CC g o i " 6 |8+m=14 6
8+ M=15 7 l—5=8.- e 13 12_.=4 . Bl lm-7-9 16
B -7=4 i} 9.+-=..1.5 6 9+.=18 9 | mig=17 8
N +2=1 9|1 -8=8 ——1f W-5=7 12




Mental Arithmetic 3 Answers

e?x7= 49 | (6x9)

CHECK-UP TEST | Number

s = 62
36+ = i .
gx 6= 48 | 4x8)+7= 9 4 | 30+8= 3r 6
3 39 | 4947 = 7| 16+9= 1r 7
1= 21 (S %7)+ 6= T9= r
2 M1 30+5< 6| 20+3= 6r 2
9= 45 | (6x3)+2= vl £
- ' 20| 72+8= 9 | 54:8= 6r 6
8= 26 1M1 x9) 4 5 = +8= r
7x 14 24 = 6 = 4 80«9 = 8 8
= 36 (2% 7) L6 = R r
B 20 | 0+4= 0| 63+8= 7t 7
5= 20 (3><9)+6: i — r
g 33 1 27+9= 3 {E20E = 2r 6
= 18 (?x?)-f-d: IS AR [
S >3 | 42+6= A s e 5r 8
0x3= 0 (5x6)+3: 33 64 - l = L
‘ o= 8| 21:8= 2r 5
9)(9: 81 (6x8)+5= 53 40‘__5_
4 == 8 3+5= (B0
8x5= 40 (OX5)+3= 3 ]8-'—9‘—
== P LT P 5r 5
3x8= 24 | (4x9)+5= 4 | 28:4- - 69;9: 7: ;
9x4= 36 | 8x7)+4< 60 | 32:8= 4| 48+7= 6r 6
o SRR s 20| E81 0 = 9 | 16+6= 2r 4
7x9= 63 | @x8)+6= 2231836 - ¢ = 6  45:8= 5r 5
4x3= 12 | 4x7)+4= 32 [ 35+5= 7 | 57+6= 9r 3
9x8= 72 | (8x9)+8= 80 | 54:9< 6| 31on= ey
Tx4= =28 SleFix 6)1-4 46 | 48:6= 8 | 61+7= 8r 5
3x5= 15 | Bx6)+4= 22 | 63+ 7= 9 | 62+9= 6r 8
@ Find the value of each missing number.
S5x M =40 8 | 9% =63 7 x4=32 8 | 16-W=4 4
:6=5 30 +8=9 72 | 21+ H =3 7 x 8 = 64 8
i x7=42 e 6 | 5x M =45 9 | 368 =9 4 | B-a=7 - 28
27- M =9 = 3 o= 81 | 4x =24 i
@ iof8 & 9  1of2s 3 of 20 15 | 2of4s 18
Fof21 7 | 1ofao 2 of 54 45 | 2035 Sy
& of 36 6 | 1of32 Zof4g 42 | Lofe3 49
§ 0f 45 5 | Lof100 10 | 2 of70 21 | & of80 72
© Find the whole number when
. "4-<
3is8 .24 | Llise 30 | 3is30 36 : is 16 20
" 7 - <
%[57 e o 1lisg 72 EI521 24 e is 12 7
1 7 4 ic 36 81 | Zis49 70
gis4 36 | tis12 120 | gis3 - 10
~10= 0.4
0 1xn0- Gl o 13 | 13x10= _ 13 | 40+10
e e 3021 o6 | 660+ 101 6.6
100 x 10 = ~ 1000 | 800+10= 80 | 096x10= ol i
145 x 10 = ~ 1450 | 4620+10= 462 0.02x120= 102;0 ey =
o | — 5 | % O MM T
px100= 1500 | 1900+ 100 e 0= 5 | 19.0+100= 0.19
10~ 12000 | 6500 + 100 = o2 0_05x1100 : 113 | 4030+100= _  4.03
104100 10400 | 10000 + 100 = HOORIRLI S |
\_-‘___
°.z'nd_the missing numerator or denominator. . s 1}]%__ i %% - ; =
5= b~ 1‘; 3 192 %,_, 100 10 % (S 3
£ s ] 10 3 100 %= o e
a= et 1 7 35 | 9 100 10
: e | L 100 25



(CHECK-UP TEST = Measurement

' I~..r.,.;|| i
AT

° T In =arh oy fe == 200, Mo, o S S J P 200, 10p, 5y
:—::3 ?’%"-:j‘%q‘ 30 S0p, 20p, Wp &% _ S0p, 10p, Sp. 2p 18p 190, 5p, 2p p |
:i::-:_ _E_E;z_.:_‘:u: 50 200, 5o, D 7ip S0p, 20p, 1p _‘ { 9P 20D, Sp, 2p, p |

e Tind Te Cange Tom st 3oy

— Sorat T J— - Change .-\mOunt_.__ 5p_er_1t Cl‘tlnge <

S0p 225 2% S0 8ip %o £3 £213 £0.87
S0 5o 50 &0p S2p 8p f4 | EI:S_q_g_::xs
S0 2o =0 20p 23p 7D £4 £2.48 ' La 52 '
Sl Ip 3p | &5p £1p 4p £5 | £309 | f199
SOp 28g 2p | ' £ 24p 76D £5 fzm'sli g
w slE ' 5 1 = e |

[ sop Z3p Zip 2 £169 31p £5 £211 | f289

| soe 15p 34p | =2 £1.05 94p £5 £0.88 | f£412

@ o= 525 | 5750= 1550ps | £255= 12 20ps, 3 5ps
£3ps= 152ps | £1000= _2050ps | f1.72= 8 20ps, 6 2ps
14 505 = 7i0ps  £320-= 1920ps | £278= 13 20ps, 9 2ps
100 Sps = S0 i0ps  £1000= 5020ps | £430= 38 10ps, 1 50p
12 5ps = 320ps @ £500= 5010ps @ £380= 7 50ps, 3 10ps
30 10ps = 2520ps  £750= 7510ps | £4.25= 8 50ps, 5 5ps
45 10ps = 950ps | £500= __1005ps | £290= 5 50ps, 4 10ps
&5 10ps = 1250ps  £220-= ____445ps | £164-= B 3:50ps, 7 205

© 20+ 36p+50p = £1.10 £1.35 - 60p = £075 | £2244£309- £5.33
39p 4+ 41p+ 22p = £1.02 £270-85p = £1.85 | £475_ ¢80~ £1.95
259+ 75p 4+ 9p = £1.09 £4.60-99p = £361 | £162+£138= £3.00
63p 4+ 28p + 12p = £1.03 £2.29-£074 = £155 | £150-f077= £0.73
82p 4+ 63p + 15p = £1.60 £320-£293 = £0.27 | £387+¢£045~ £4.32

© ind the cost of
okg 31 25p per kg £1.25 ,' 13121 28p per | £0.42 | 5mat £1.18 per m £5.90
B%kg 3t 30p per I:g £1.05 !' 311 at 55p per | £1.65 | 75cm at £1 per m £0.75
43 kg at 20p per Jkg £1.80 | filatZZp per £0.55 | 43mat50p perm £2.25
Zifg at 50p per 200g £500 | Jlateop per 100ml £3.00 1_.}m at 20p per %m £0.50
Ry ateoppeikg £90 _ | 750ml at 26p per 3! £0.39 | 2mat 30p per 20cm. £3.00

@ Vite the times shown on these clocks

a 7.37 a.m.
b 07:37

morning

a Uﬂﬂg the 12-hour clock format, using a.m. or p.m.
b using the 24-hoyr clock format,

a 10.19 p-m.



